{(1/Nevents) d I\Ich’/dr] , A}

Ratio to CDF

900 GeV ppbar Underlying Event

O 5 | T 17 1T 7T 17T | T T T T T | T —I_ m

. C

| q ik

} <N,> vs P! (p_ > 05 GeV, h| < 0.8) 12

- 13

m CDF S

04— --3-- Herwig 7.2.1 default _— N

"7 —&— Pythia 8.170 default _9!

—

B S

B J@

=

B 1z
0.3 _

B Sivy

(90)

A<

™

= 8

—™

—i

.=

4=

S,

B N

(@)

=

-1 O

©

2]

' 1o

s o

‘ (&)

—— | | | :' | | | | e
— I T T | T T T T |:

2 b EP

1 1
i - _

05 ooy | —0.5
T R T T T I T SR S R ! : T TR R T TR SRR S

0 5 10 15 20

(P [GeV])



	Contents
	Page 1


